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උදාහරණය 2  

   
a

଺
  -  

ୠ
ହ
   = -2  ----------------- ① 

   
a

ଷ
  +  

ୠ
ସ
   = 9  ------------------ ② 

a

଺
  -  

ୠ
ହ
   = -2   

6 සහ 5 , ý.ෙපʣ.ě. 30  ෙɩ 

30 x a

଺
  - 30 x  

ୠ
ହ
 = 30 x -2   

5a – 6b   = -60  ---------------- ③ 

 
a

ଷ
  +  

ୠ
ସ
   = 9  ------------------ ② 

3 සහ 4 , ý.ෙපʣ.ě. 12  ෙɩ 

 

   12 x 
a

ଷ
  + 12x 

ୠ
ସ

 = 9 x 12 

   4a + 3b  = 108 ------------------------- ④ 

5a – 6b   = -60  ---------------- ③  

4a + 3b  = 108 ------------------------- ④ 

④ x 2   8a + 6b   = 216   -----------------------------⑤ 

⑤ + ③Ǧ  13a   = 156 

   13a   = 156 

   13       13 

   a    = 12 

 

③Ǧ    6b  = 5a + 60 

    6b  = 5 x12 + 60 

    6b  = 120 

    6b  = 120 

    6         6 

    b   = 20 

 13.1 අභHසය ǧම කරǦන. 
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සාධක භාɪතෙයǦ වəගජ සȾකරණ ɪසǾම 
ax2 + bx + c = 0 ආකාරෙɏ වəගජ සȾකරණයක ɪසǿȼ ෙසʣයන ආකරය Ⱦට ෙපර ඔබ 
උෙගන ඇත. 
 
උදාහරණ: - 

i. x2+ 7x + 12  = 0 
x2 + 3x + 4x + 12  = 0 
x ( x+3) + 4 (x+3)  = 0 
(x + 3 ) ( x+ 4 )  = 0 
x + 3 = 0  ෙහʤ   x + 4= 0 
x = -3  ෙහʤ  x = -4 
 

ii. x2+ 5x + 6  = 0 
x2 + 2x + 3x + 6  = 0 
x ( x+2) + 3 (x+2)  = 0 
(x + 2 ) ( x+ 3 )  = 0 
x + 2 = 0  ෙහʤ   x + 3 = 0 
x = -2   ෙහʤ   x = -3 

 

ɪසඳǦන. 

I. x ( x + 1 )  = 0 
II. x2 + 2 x   = 0 

III. ( x + 2 ) ( x – 1 ) = 0 
IV. x2 – 7 x + 12  = 0 
V. x2 – x – 30  = 0 

VI. y2 + 5 y – 36  = 0 
VII. m2 – 2 m – 15  = 0 


